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Q 4.)

[bookmark: _GoBack]John pays 10,230 euros in Income tax
His tax credits are 3200 euros
The Standard rate cut off is 35000
The standard tax rate is 21%
The high tax rate is 41%
Find John’s Gross salary
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~ Uupdates now

Patrick worked for a weekend washing cars in a garage.

(a) Intotal, 35 cars were washed in the garage that weekend. Patrick washed 14 of them.
Work out the percentage of the cars that Patrick washed.
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(c)

Katie bought a motorbike last year.
Since she bought it, the motorbike lost 10% of its value.

The value of the motorbike is now €12 150.
Work out the value of the motorbike when Katie bought it.
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(ii) Work out Katie’s net income, after income tax has been deducted.
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(a) Katie has a gross annual income of €52 460.
8:5% of this is deducted in pension contributions.
The amount that is left is Katie’s taxable income.

(i)  Work out Katie’s taxable income, after the pension contributions have been deducted.

Katie pays income tax on her taxable income at a rate of 20% on the first €34 000, and
40% on the balance. She has annual tax credits of €4200.

(ii)  Work out Katie’s net income, after income tax has been deducted.
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Question 10 (Suggested maximum time: 15 minutes)

The rates and bands for income tax are as follows:

€35000 @ 20%,
balance @ 40%.

(a) Lornahas agrossincome of €50 000 for the year.
Using the rates and bands above, work out her total income tax for the year.




